City of Scottsbluff, Nebraska

Monday, March 20, 2017 Regular Meeting

Item Bids1

Council to consider awarding the bid for the Sanitary Sewer Main & Siphon Project to Paul Reed Construction in the amount of \$160,384.03.

Staff Contact: Mark Bohl, Public Works Director

Agenda Statement

Meeting Date: March 20, 2017

AGENDA TITLE: Council to consider awarding bid for the Sanitary Sewer Main & Siphon Project to Paul Reed Construction in the amount of \$160,384.03.

SUBMITTED BY DEPARTMENT/ORGANIZATION: Public Works Department

PRESENTATION BY: Nathan Johnson, City Manager

SUMMARY EXPLANATION: Two bids were received from contractors for the sanitary sewer main and siphon project by the Scotts Bluff Drain near East 27th Street. The engineer's estimate was \$179,176.00. The bids are from:

Paul Reed Construction \$160,384.03 Infinity Construction \$173,125.00

M.C. Schaff & Associates have provided a Bid Tabulation and Letter of Recommendation to award this project to Paul Reed Construction.

BOARD/COMMISSION RECOMMENDATION:

STAFF RECOMMENDATION: Staff recommends that Council award this project to Paul Reed Construction in the amount of \$160,384.03.

Resolution	Ordinance □	EXHIBITS Contract □	Minutes □	Plan/Map □
Please provide all	visual presentation i	naterials.		
Other (specify)	Bid Tabulation and	Engineer's Letter o	f Recommendation	
NOTIFICATION	LIST: Yes □ No	□ Further Instruct	tions 🗆	
City of Scottsbluff				
Office of the City Ma	nagar		Effective de	to: Innuary 20, 2017



M.C. Schaff & Associates, Inc.

818 S Beltline Highway East Scottsbluff, Nebraska 69361 308-635-1926 Phone 308-635-7807 Fax www.mcschaff.com

Engineer's Estimate \$179,176.00

Sanitary Sewer & Siphon by Scottsbluff Drain near East 27th Street City of Scottsbluff, Nebraska								Infinity Construction, Inc. P.O. Box 2453			
No.	Description	Unit	Quantity	U	Init Cost		Total	١	Unit Cost		Total
1	Mobilization	LS	1	\$	27,548.76	\$	27,548.76	\$	20,430.00	\$	20,430.00
2	12" PVC Sewer Line	LF	175	\$	81.46	\$	14,255.50	\$	144.00	\$	25,200.00
3	6" PVC (C-900) Sewer Line	LF	115	\$	45.13	\$	5,189.95	\$	179.00	\$	20,585.00
4	6" Ductile Iron Pipe (DIP) Sewer Line	LF	80	\$	59.80	\$	4,784.00	\$	190.00	\$	15,200.00
5	Fittings	LBS	216	\$	14.36	\$	3,101.76	\$	5.50	\$	1,188.00
6	60" Siphon Manhole	EA	2	\$	40,787.92	\$	81,575.84	\$	12,750.00	\$	25,500.00
7	60" Standard Sewer Manhole	EA	1	\$	9,746.06	\$	9,746.06	\$	8,800.00	\$	8,800.00
8	Reconstruct Sewer Manhole	EA	2	\$	4,430.24	\$	8,860.48	\$	5,600.00	\$	11,200.00
9	Restore Vegetation	SF	1,000	\$	1.54	\$	1,540.00	\$	3.00	\$	3,000.00
10	Dewatering	LF	267	\$	0.01	\$	2.67	\$	136.00	\$	36,312.00
11	Remove Existing Manhole	EA	1	\$	1,214.21	\$	1,214.21	\$	1,790.00	\$	1,790.00
12	Abandon Existing Sewer	LF	280	\$	9.16	\$	2,564.80	\$	14.00	\$	3,920.00
Total \$ 160,38					160,384.03	\$ 173,125.00					
Proposed Start Date						April 1, 2017			Su	mmer of 201	

Project Number: RM150013-00



City of Scottsbluff Attn: Lynn Garton 2525 Circle Drive Scottsbluff, NE 69361 March 15th, 2017

RE:

Sanitary Sewer Siphon Project

Bid Tabulation

Honorable Mayor and City Council:

A bid opening was held on March 14th, 2017 for the above referenced project at the Scottsbluff City Hall.

Two contractors submitted bids on the project:

Bidder	Total Base Bid	Proposed Start Date
Paul Reed Construction & Supply, Gering, NE	\$160,384.03	April 1, 2017
Infinity Construction, Scottsbluff, NE	\$173,125.00	Summer 2017

After past biddings, the Engineer's Estimate for the project was updated to \$179,176.00. A detailed bid tabulation is attached to this letter for your review.

Upon tabulation of the bid from Paul Reed Construction & Supply, Inc. and Infinity Construction no errors were found.

Each bidder provided a bid bond in the amount of 5% of the bid in accordance with bid proposal requirements.

Upon review each bid appears to be reasonable and each bidder responsible. The bids came in under the current budgeted amount. This project has been bid previously and only received one bidder, therefore it was difficult to determine if the bid received was reasonable. This bidding appears to confirm each bid is reasonable and we recommend the bid be awarded to Paul Reed Construction & Supply in the amount of \$160,384.03.

Respectfully, FOR THE FIRM OF

M.C. SCHAFF & ASSOCIATES, INC.

Without Ollo

Michael Olsen, PE

